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IRREGULAR VIRBS AND PAST PARTICIPLES

On the line, write the past participle form of the irreqular verb in parentheses.

1. Sarah Ida had (grow) tired of looking for a _job.

2. Someone has (see) the shoeshine man's sign.

3. Who has (give) Sarah Ida a_job?

4. Had he (say) yes to Sarah Ida?

5. He had (tell) her about his work.

6. Sarah had (become) frustrated looking for a _job.

7Z By the end of the story, she will have (lose)

some of her nastiness.

8. She had not (think) much about this kind of job before.

9 Sarah had (make) a new friend of the shoeshine man.

10. She has (write) to a friend about her new _job.




